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Directions (10-19) : Select the ‘Directions (18-22) : Find the
one which g different fooeny the missing termof the series from the

oither three responses. iven resporises,
10, (1) Mile [# Centimetre 18, BAT, EAT, HAT, 7
it sttt e s e e
ure from the fiven alternatives, 1 L) HEH-UP (BIRAT (4] KAT
1. Editor : Magazine g"""‘ml ﬂ-{&}lﬁ;. w.*:ﬁ.a;w
] : Often-Scld :
@ Mo A (0 Pecale- Stae B4 W
{3) Drama : Director 12 (1) 11-127 (2985 20. Question Pigares
{4) Dmareririy) : Artini @75 450
3. Hindulsm, Christanity, Ts- 13. (1126 Z (224 X 9
lam : Religion (32av #1205 m@ E [
(1) Ear, Wose, Eyesight : V- 14 (118, 64,512

(2) 36, 8, 206

L]
2] Plus, Minis, Multiple : [3) 48, 4, 202 l
Division . (419, 27.263 h
m!leuu"l v L3 1] [43] (1] "
{41 Humdd, Hot, Tundra : Re- % Al ] fang g_ 21. Guestions Figures
]
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-l.::::gnmn[lﬂ " m?mu* . -ME Anwwer Figures

3 YIZEM which figares can -
(3] OPRST - H-].ﬂﬂmﬂ
8. CUT: BOTVSU: : TIP : ? St oo the Sven reopoee 7 <199
(1) UVHIOQ (2] SUHJOQ
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&19:59::17:7 X | 29, AC, FH, ™™
(1) 5i 12)53
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71420111617 u L
Mz (248 B TR
(3 10 I4) 2 @ﬁ E V .fml;mmm-
0. 100: 108 - : 100000 : 7 § 1 T . ) lownsd by reeoct Bour written in
(e® 12) 0% {(1)1,5,7; 2.4,9; 3,88 reverse order and 50 on,
@31100° 4} 100t (201,57 2,8,9; 8,46 which letier is the Sth in the
. Guostion Figures ! (31, 7.8 2,49 3,56 writken order?
L * i . 9 @148 5,88 287 wr QN
|l ﬂf * © 17, Aimange the following words Er}:m i :
im & Togheal order : 24 ome sed ol fetters when
v (c) Roat (d] Flower gepa iry the given letler series
[:’ [:’ (Udcab {Zabed Wl ctguce M
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(L backe  (2) sbasc
(3 cabch {4} beack
28. The number of keltery akjpped
in between adjscert lettérs
in the serles decrenses by one
each tme. Whilch of the fial-
lowing series obaerves the
rule?

(N CGHOS  (2) DHLPT
M EJNGS (4] BRINR
26. The number of letters skipped
hhﬂmlﬂfm!hm
in the series is iIncreased by
one each time. Which of the
following series observes the

Fle?
(1] ADHMS (2] HHOSV
[3 GUNSX " [4) FLQUX

¥
In the given figure, the sct of
alphabets in the middle of all
base lines is
[TV EMU
[3) AEMUY

(2) AENU-
[4) KLMNO

for multiplication and 4
stands for subtraction; then
which of the blmn‘m
tions is correct?
(I3-6+3x5+3=74
(3 ExB6=T+2-6=20
(MIG+6-3x5+3=34
H3MB+E+IxE-3=45

2. The symbols for addibion [+).
subiraction . multiplica-
tion [x) and division (=) will
have to be inserted in the
-~ squares in onder to get

r-3 o8 shown in t!p:

[EFITETE .2 T

20[_]s[ Js |:|2E| 1743

MMMHW&

0. Letd = l..'KnE,L-.E.H.?,
N=11,0= 13, P=17. Find
the lsfier W be inseried in the
relatios given :
o= +P=a3
(B L AR
[N MK

- Directions (31-38) : Some que-

sions are sohved on the bashs of &
certaih system. On the same ba-
ala, find out the correct answer
from amongst the four alterna-
tives for the unselved squeation In
each guesbion

81.1/9-8=63,8-7=48,
T-8=58then§-5=7
1) 11 2) 30
31 (4} 24
84. 1fP(2, 3. 5) = 5323
Fll.4.3)=3414
Pl 1. 3=2121
then F{2. 0. 1} =7
(1) 1002 2] 1220
[3) 1020 4] 1200
83.1f8] x32x56= 1159
IExIIm ]l =0250
then 42 x 18 x G2 = ?
(1) 588 {21 996 -
[3) 548 {4} 658
34. Insert (he missing pumber ;

(OXO, GD

llim

. e [-I-]

35. Fing the misaing number in
the matrix :

3110
6 |-2
zfali1
121 | 225 | 100

o (1]
3 45
Directions (38-37): One/Two
Statementfs] is/are given Rllowed
by twio Conclustons, [ and fI. You
have 1o consider the
to be true, even if it/they seemis)

definitely be drawn from the fiven
statement(s). Indicgle vour an-
WWET,

" 30, Statement 1 Thetbest evic
dmuflndumpaﬁ
H'ﬂllm by

Ayurmdﬁ: medicines i the

Glm : () Avurvedic
India.

(I} Allopathie medicings are
nol popular in India

(1) Only canclusion | follows

12) Omly Conclusion I follows

3] Both Conclustons | and Il
Jollow

(4] Nelther Conclusian | nor
I fallows

37. statement : [a] All siu-

denits lke excursions.

(b} Some students like labo-

ratory experiments.

Conclusions : (1) S-I:ud':nls

whao like Laboralory experi
frienils also Hke excursions.

(I} Some students do net like
laboratory experiments
bust like excursicns.

(1) Dumly Conclusion | follows

[2) Only Conetumion [ follows

13) Both Conclusions 1 and 1T

. Follow

(4] Netther Conolusion | nor
11 iollows

38. Sand {s called Black. Black
is called Sky, Sky is calied
Red, Red is called Sea. Where
are slars seen Mhen?

(1) Sand [F]}

[3) Black f2)

39, What do yuu conclide from
the follownig fwo state-
menits?

L Hybeid plants are ress.
Lant to Mungus.

1. Fungal infection ‘reduces

the'Rile of planis.

(1) For a long life-span grow
brid plarits

(2) Fungus attacks hybrid

[3) Yield iz more in Hybrid

corTect, to be at variance from commonly
Me=tsrx [ De-x4+ knowm facts. You dre to decide plants
[@x—t+ [He+n— which of the given eanelusions can (ﬂ;l;nltﬂjﬂhﬁ aré hybrid
=1 The Information Provided here is only for reference. It May wary the Original.



40, Il LEMON ia written as OVMN-
LM, how car MELON be writ-
ten in the same way?

(LI NVOML  [2) LMNOY
BINVOLM  [4) NVLOM
41. If D becomes H, E becornes J
and G becomes M, what will
K become in Enghish alpha-

bet?
mu v
3y Mz

43, If CALM is written as XZON,
then JACKAL muy be written
s
(1} FEXPEM  [2) QENPZO
(3 FXZOZFP (4] ZQPOZX

43. In & certain code Eanguage
REFORM s coded as 426340
and FORMULA i1a coded as
B349871. How 8 AMUL cod-
ed in that language?

(1) 1847 - (201587
(3 17ed [4] 1478

M. lA=Y=]1,B=5=2N=F
=23.0=E=4, RuG=5 the
sum of which set of lebiers
below makes an odd number?
(1) BANANA
[2) DRANGE
[ GRAPES
(4] PAPAYA

48 B=8.L=7.0=5C=9,K
= 4, using the glven total,
firvdl out the missing symbol
in the following block :
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48. Ml has more money than

Mani but less than Babu. If
the amounts held by Jil1,
Mani and Babu are x. iy and
£ respectively, which of the
Tolbouwing is frue?
Me<zg<y [Rlx<z<y
Bly<x<s Weayss

48. All of ua, plus half of us and

quarter of us and you alone
taken together equeal 7 1. How

many are we really?
{170 {2160
(2) 50 (4140

B0, if the day after tomorrow Ia

Friday, whit day wall third
day after the tomomrow be?
(1) Saturday [Z) Monday
() Sunday (4] Friday

B1. Specify the choice which

gives the mumber that would-
replace the question mark :
7

e &4

{1108 [2) 10664

31 11884 [4)-1664

B2, I the ratioof Uhe ancas of two

squares 1s 16 : 1. then the
ratio of their perimeters is
a1 f21i18: 1
B33 413:4

B3. The shade of 18 i high pole

is 20 il vl out the lengih
‘of shade of 27 0t long pole
1136 it (21 300
a4 n M) a0n

B8, Average of lwo numbers |a
8.5 and square root of their
product is &. What are the
numbers?

(IJ1land2 (2)8and 5
13 10and 3 [4) 9 and 4

87, 60% of students in a school
are boys. The number of girls
ir the achool ts 300 then the
number of boys 15
(1] 500 (2) 300
3] 450 [4) 750

B8, Of four numbers whoss av-

1
erage is 80, the first (s th
of the sum of last three. The

first mamber is
{11 15 [2) 45
(42 [ahas

59, Secta and Geeta have two
glasses of equal volumes.
Bath have same milk in their

Secta soys Lo Geela,

Give me halfl the milk in

your glass g0 that my glass
will be Full of milk®, Ceeta
says Lo Scela, “Instead you
give me one-lfourith of the
millk in your glass o that oy
Elass will be full of milk". Fird
the ratio of volumes of milk

in their glasses.
q1j2:4 [21B8: 8
3a:3 412:3

@0. Rema and Maolly sing Karnat-
¢ and Hindustani music.

|Bjo|7|B|B|=33 B4. A father was twelve times as Molly and Padma sing Hin-
(1B (L obd as his son tvenly years dustani and light music.
410 ‘back. Mow he 15 twice a3 old Padrma and Kamala sing light
3K 14 as his son. What are their music and semi-classical
48. In the following series of nu- prescnt ages? muaic. Rema and Kamala
merals, which digit has mas- (1] Father 44 and son 22 sing sernd-classical and Kar-
temurn frequency? {2} Father 55 and son 33 natie musie,
S4ETIAITEIASEIBANA {3} Futher 66 and son 44 Who sings hght music, semi-
[BIE:] [FiL:3 {4) None of these ! classical and Kamatic mu-
3)4 43 BB. What s the difference be- sic?
47, How many cven mumbsrs are tween the biggest and the (1) Rema {2) Padma
qum i the following se- smallest fractions in the fol- 3) Modly {4) Kamala
of numibers which are lowing® B1. A scores more runs than B
hrmndu:kl’uﬂmdhym 2483 but less than €. D scores
odd numiber as well as tmmey 35 E maore than B but less than
mtﬁrpr&adndl:ymﬂm ' 1 A. Whao is the loweat acorer?
= {2 = ha ZB
mmmﬂm
ey R Lme. . We
(3] Four 4) Frwe 3 g Satish, Satish sits between
o= The Information Provided here is only for reference.
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Mandsh and Girish. Who sits
farthest to the right?
(115aush  [2) Girish
(31 Harish  [4) Manish
83, Rand 5 are brothers, X s the
alster of ¥ and X s the moth-
er of B. Whal s Y o 57
1] Umche [ Brother
(3] Father  [4) Mother
B84. A siarts walking (rom a
point P. A goes westward and
covers a distance of4 kmand
then tums o his right and
walles 3 km. How far A 18 from
the starting pont?
{117 km [2) 8 km
(32 km [4) 5 km
88. A man siars his journey fsc-
ing the sun early moming
He then turns right and
walka 2 ke He then walks 3
ken afler turmning right agadn,
Which is the direction he is
facing now?
1] Narth-Eanst
12) Merth
13) Wiest (4} South
86, Raju starts from & place A
tewards Scuth and reaches
second place D. From there
he takes tum towards N-W
and remches point E. From
there he takes tum towards
N-E and reaches place F.
From there he takes turmn to-

[1H] [E] [EL] [L]]

&7, The following are Engliah al-
phabet letters turned in the
same plane. Which one s an

exception?
E]d

B) |- A

] (1] -

88. in the alphabets from A to Z.
which 15 the third lefter to
the: right of the letter which
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is In midway between K and
57

e 2

(0 o

68, From the given alternative
words, select the word which
cannod be formed using the
letters of the given word :
CONTINENT
{1) CONTENT (2] INTENT
N CONVENT (4) TENT

F0. From the given alternatives,
sclect the one which can be
formeed using the letters of
the ghven word :
URBANIZATION
11} NATURAL (2] RATIONAL
i3 BAND  {4) TURBAN

F1. The follinading becomse mean-
ingful words if two leiters in-
terchange thelr places :

(Al LETRET (B) MIDELD
{C) VISNGL (D) PERDOL
The letters to be interchanged
are

(1] firat and last
[2] third and lowrth
[ fourth and sixih
[4] secand and fifth

73. Find out three leliers o be
filled in three blank spaces
which make meaningiul
wards when preficed and sul-
Teeed letiers ace added up :

foue  (JYEAC
M IME (#RAC

T3, The coarect spelling 15 given.
The four alternatives have
sorme misiakes such as
(a) letter omitted
(b} usrwanted letter added
[cl sequemce of letlers

[d) letter omitted and anath-
er letter added as a sub-
stitute

Find the alternaiive which

containg masimum number

of rmistakes :

SCAVENGER
(1) SAVEGNER
(2] SAVENGER
) CAVANOURE
[4) CAVENGER
4. If you arrange the letters giv-

mhﬁnmruly.nﬁl
& mmﬁ
that word :

TADBIROFN
(1) FROMOTION
2] PROMINENT
[ PROBATION
[4] PROFOLIND
T8. Two words are given. Using
the letters contained in these
two words, which one of the
following words can be
frmed?
{A] LEADER (B) CLIMB
[1] MINUTE (2} BLEAK
(¥ DEBATE [4) MIRACLE
T8. Which one of the following
respanses will fill the blanks
o make a reanjngiul word?
Y P
MMRET [MTER
[HPTE [4}PST
T7. What is the total number of
triangles in the fAgure given
below?

(VR ] 2] 32
3 40 (4] 12

TE. Which of the answer fgure:
is exactly the mirrar iuﬁ
of the given ligure, when
milrror is hebd at AR

guestion Figare :

L]
JALKL
]

Aaswer Figures :

LA | LAY | IHLAL | IHJAL

[1}] L1 m H

T8. Chogse the correct muTror
image of the figure, when the
mirros ie held ai AR ;

=] The Information Pro

yided here
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Pwestion Figwre - .Il.nnn-glhaﬁ:w:m!ll-
& ures, which one can be
m'ndﬁnmheulnul.puc-
El fHven belome?
Answer Figures | estion Fignre :
q C’
ALTA 5
in ] 3 L} Answer Figures ;
—.mmnnmmm
of the question Agure out
Gmtation Rigere 1 m m . m W
m B4 ich answer figure the
e el components of the
Tuesiion figure are found?
Asgwer Figures : jucstion Figure
$ $ & < vl
-
in i [T 4 Anewsr Figures :
il.smd:.rlhe?rﬂuwruﬂwm
consisting of a cdrele, & reci- 2
angle and a ll'.l.l.nll:.'and Ry @
m tha guation given be- {n [Fi] (M 19
a8 ‘I"quhnmﬂl‘h:mrlt;
ures shall comiplete the given
Buestibi Figure
T ] @
& 2 Anwwer, Flgares |
ot e A d 3
bers is n:'mnnn in all the -
three diagrams? - Lt i ]
(1w [@) 13 88 in the following question,
B S
{4) Nene of these - WEL - mchg
#3. Which one of the following mahe up the key fgurs gven
dingrarrs waber, he question?
salt and sugar® Queption Figure :
Sucstion Figurs : @
®| |@| [@
Answer Figares ; Answey Figures ;
o L] K
©|cles o’ [ERLIENI

- n .

i i 3 4

87. There is a dat placed in the
queation figure. Find out the
answer fQgure which has the
posatbility of placing the ol

ng the same condi-
tions as in the question fig-
(2], -9

Gueation Figure :

&)

Answer Figares :

S|

n ih i1y i

88. [n this test the problem fig-
ure 18 af a woesden block.
Think of the position which
you will get when you place
the block with its front side
at the bottom.

meation Figare :

Lis
eSS

] 2} {1} [T}

88, In a cube uaing given arrang-
meent, which part be opposile
Frudt?

Seed
Flawar

§iem
Peuin gl |
Ll

(1) Stem
{3) Flower

98, The question Agure Is folded
to form & . Choose from
the angwer Agures the box
that is similar to the bax
farmriec,

mm;

12) Sead

- 5]
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Answer Figures : 5. guostion Figwre : 29, Oiven bebow are Jetters A 1o

Z. Under each capilal jeller

- a small letter s Jyritien

@ ﬁ ', @ which 12 to be used ass code
- for the capajal lsties -

@ @&, @ 0 Answer Figures : nlculiaul.uu

Bl Four positions of a dice ane
o

R

pqq,a:ut:'+a|
Nl

Iurn‘RETl'i"l'I\'I
kel rwygohmzu?

PR
g T

6. What figure will be formed

in wne folfowing queation a

1] [F1] Kl

when a transparent sheet group of five capital lsbiers is
tdentify the number al the with the grven i fikel- ghven and 1h code bitralent
betlom when op 15 6. ed on the dotted lne? I given In cne of the columns
(13 {211 feeation Figare : {1, (2). (Aand (4], Study the
=, “”w [, e
¥ Li
= wmw * i A given abave, chooks thie code
Answer : * exquivabEit fronfh ameagst (1),
“l““':. -2, (3] or {4) as yous aneeer ©
BROUV
T T IS {1} swegr. nlzcpe, rages, vim-
1 mue' {2) Orange woo@ W 1. qegsw, fonoow
: ]m Gireen OF. A piece of paper it folded and 12 srweg. pablt, kayna. Mjeh.
& o panched as shown below. ausew, Tikeoh
“.mgw:;ﬂh:‘u: "W”‘WI“T"”‘W (@) yrwnm, pmxad, tiqpb.
the four, aliernativps, that ﬁ‘:‘:& how it ,'wﬂ appear yikam, dhuef, uvae
makes it a perfect sugare. ot l r:-' {4] scgwr, grmyad, yrweg. gm
Awhich: gae 18 T, stion | \ fipe. awhyn, bipg)
m HJ 100. Given below there is 8 name
b § of town with date which has
il dmrwer Pigucn | beien reproduced against (1]
= o Y {2). (3 or [4). Of them, three
Answer Fighres : ““ | have gome mistakes or ihe
: “ " | other while one is EXACTLY

the same as ghven below. You
are Lo chodbe the one as yous
answer which is EXACTLY

a n 1] 3 5

98 Which of the followirg col-
wmns are epnngcled/ re

W] d

LLE (B} h L1}

same reprodusction of the
Directions (94 -88) : From with each other i some wiy? :':mm ;
the grven answer figures, select the T :
questio [T Chandigarh
:mmd f fe 4|Bf1alasiie 28™ Seplember 2001
B4, uestlons Figare 21406 alE (1] Chandigarh
- AR 261h September20g1
B ES {2) Chaindigrh
BN EI G ES ‘28t Saptember 2001
Answon, Figwepe (1) Cohumns 1. Bl.and V “"};'rf““"‘-'f“
; Septembeer 2001
T 11 2] Cobumana 1. 11 gnd T
1 4) Chandigarh
=l L= mmm:r m and V o8 e $ii
o o o o {4) Columns pandlll e g

1]

1 The

Iinformation Provided here is only for ref

erence. It May wvary the Original.
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Answer: General

Intelligence
@ |2oi@l | s1l@e] |7 |@
2| 3 27 | (4) 52 | (1) 7 [ (1)
3| (2 28 | {1) 53 | (2) 78 | [4)
al 3 29 | (4) 54 | (1) 79 | 13
51 (2) 30 | (4) | 55*_{. % ED | (4)
& (2] 31| (4) 6 | (4) gl | (4

L 7lw| [2]e] [ @] [2]@
8| (1) 33| (2 58 | (4) 21 | (2)
3| (3 34| (2) 59 | {a) Ba | (3
0] (3) a5 | {2) 60 | (4) 85 | (4)
ulml | si@ | e @] [356]@
12 | (1) 37| (3) 62 | 3 27 | (4)
13 | (4] 38 | (4) 63 | (1) g2 | (3)
14 | (1) 39 | (1) 64 | (4) 3 | (2]
15 | (3) 40 | (3) 65 | (3] o0 | (4)
16| (1) a1 | (2) 66 | (3) 21 | (2)

17l | el@) |s @] |s2]1@)
18 | (4) a3 | (2) 68 | (1) 93 | {3)
19 (1 a4 | (1) 69 | (3) o4 | (4)
20| (2) as | (3) 70 | (4) 95 | (4)
21 (2) a6 | (3) 1|3 96 | (4)
22| (3) a7 | (3} 72 | (@) g7 | 1)
alw| [sle [ o] [n]g
24| (3) a9 | (4} 78 | [E]] 9 | (3
25| (3 s0 | (3) 75 | 100 | (3)

8]
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